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HW6 trilateration problem



hw6_data
horizontal distances (m)
sigma = 0.075m

pts   set 1    set 2
=====================
A-1   38.669   38.702
A-2   36.652   36.554
A-3   56.570   56.624
A-4   67.095   67.127
A-5   72.312   72.331
A-6   92.296   92.250
B-1   40.009   40.133
B-2   25.185   26.239
B-3   39.360   39.394
B-4   61.425   61.481
B-5   60.802   60.912
B-6   82.256   82.287
C-1   67.767   67.766
C-2   46.847   46.881
C-3   45.827   45.893
C-4   82.879   82.764
C-5   75.465   75.594
C-6   96.758   96.733
1-2   24.710   24.916
2-3   23.961   24.104
3-4   44.212   44.204
4-5   20.833   20.869
4-6   29.474   29.395

-------------------------

Control Point Coordinates

PT-ID    X         Y
======================
A      117.0     556.0
B      124.0     537.3
C      111.4     511.0
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